

DOI: <https://doi.org/10.24297/jam.v19i.8919>**Generalized Symmetric  $(f, g)$  – Biderivations on Lattices**

Mazen Omran Karim

Department of Mathematics, College of Education, University of Al-Qadisiyah

**Abstract**

In this paper, we introduce the notion of generalized symmetric  $(f, g)$ -biderivations on lattices, also some properties of generalized symmetric  $(f, g)$ - biderivations we studies.

**2010 mathematics subject classification:** 06B35, 06B99, 16B70, 16B99.

**Keywords:** Lattices, Modular lattices, Distributive Lattices, Symmetric $(f, g)$ - bi derivation, generalized symmetric  $(f, g)$ - biderivation

**1. Introduction**

Lattices play an important role in many different domains such as information theory, information retrieval, information access controls and cryptanalysis [see1,2,5,11].

In ring theory, the properties of derivations are very consequential topic to studying, many researchers study the derivation theory on different algebraic structures, lately the notion of derivations displayed in ring and near rings has been studies by various researchers in contextually of lattices [see 1,7,9,10,13,15].

The notion of symmetric bi-derivations, generalized symmetric bi – derivations, symmetric  $f$ -biderivations and symmetric  $(f, g)$  – biderivations in latticesare studies and proved some results [3,6,7], Y. ceven introduced the notion of symmetric bi-derivations and generalized symmetric bi derivations of lattices [ see 14,15] .

In this paper , we introduce the notion of generalized symmetric  $(f, g)$ - biderivations ,which more commonalty than the notion of generalized symmetric bi- derivations and symmetric  $(f, g)$ - biderivations in lattices which is introduced in [see 3,6] , also we give some interesting results about generalized symmetric  $(f, g)$ -biderivations of lattices , we apply the notions to lattices and looking for some related properties which are discussed in [ see 6 , 8] .

**2. Preliminaries**

**Definition 2.1[6]:** Let  $L$  be anon-empty set endowed with operations  $\wedge$  and  $\vee$  , then  $(L, \wedge, \vee)$  is called a lattice if it satisfying the following conditions for all  $x, y, z \in L$

$$(i) x \wedge x = x, x \vee x = x$$

$$(ii) x \wedge y = y \wedge x, x \vee y = y \vee x$$

$$(iii) (x \wedge y) \wedge z = x \wedge (y \wedge z), (x \vee y) \vee z = x \vee (y \vee z)$$

$$(iv) (x \wedge y) \vee x = x, (x \vee y) \wedge x = x$$

**Definition 2.2[4]:** A lattice  $(L, \wedge, \vee)$  is called distributive lattice if one of the following identities hold for all  $(L, \wedge, \vee)$

$$(v) x \wedge (y \vee z) = (x \wedge y) \vee (x \wedge z)$$

$$(vi) x \vee (y \wedge z) = (x \vee y) \wedge (x \vee z)$$

**Remark 2.3 [8]:** In any lattice , the properties  $(v)$  and  $(vi)$  are equivalent .

**Definition 2.4[4]:** let  $(L, \wedge, \vee)$  be a lattice, a binary relation  $\leq$  on  $L$  is defined by

$x \leq y$  if and only if  $x \wedge y = x$  and  $x \vee y = y$

**Definition 2.5 [6]:** A lattice  $(L, \wedge, \vee)$  is called modular if for  $x, y, z \in L$  satisfies the following condition :

(vii) if  $x \leq y$  implies  $x \vee (y \wedge z) = (x \vee y) \wedge z$

**Lemma 2.6 [8]:** let  $(L, \wedge, \vee)$  be a lattice, let the binary relation  $\leq$  be as in definition 2.4, then  $(L, \leq)$  is partially ordered set (poset) and for any  $x, y \in L$ ,  $x \wedge y$  is the g.l.b of  $\{x, y\}$  and  $x \vee y$  is the l.u b. of  $\{x, y\}$ .

**Definition 2.7[15] :** let  $(L, \wedge, \vee)$  be a lattice, a mapping  $D(.,.): L \times L \rightarrow L$  is called symmetric if  $D(x, y) = D(y, x)$  for all  $x, y \in L$ .

**Definition 2.8[15]:** let  $(L, \wedge, \vee)$  be a lattice, a mapping  $d: L \rightarrow L$  defined by  $d(x) = D(x, x)$  is

called the trace of  $D(.,.)$ . where  $D(.,.): L \times L \rightarrow L$  is symmetric mapping.

**Definition 2.9[15] :** let  $(L, \wedge, \vee)$  be a lattice, a mapping  $D(.,.): L \times L \rightarrow L$  is called symmetric bi derivation on  $L$  if

$$D(x \wedge y, z) = (D(x, z) \wedge y) \vee (x \wedge D(y, z))$$

for all  $x, y, z \in L$ .

obviously, a symmetric biderivation on  $L$  satisfies the relation

$$D(x, y \wedge z) = (D(x, y) \wedge z) \vee (y \wedge D(x, z))$$

for all  $x, y, z \in L$ .

**Definition 2.10[14]:** let  $(L, \wedge, \vee)$  be a lattice, be symmetric biderivation  $D(.,.): L \times L \rightarrow L$  and  $\nabla(.,.): L \times L \rightarrow L$  be a symmetric mapping, we call  $\nabla$  a generalized symmetric biderivation related to  $D$ , if it satisfies the following condition

$$\nabla(x \wedge y, z) = (\nabla(x, z) \wedge y) \vee (x \wedge \nabla(y, z))$$

for all  $x, y \in L$ .

**Definition 2.11[6] :** let  $(L, \wedge, \vee)$  be a lattice and  $D(.,.): L \times L \rightarrow L$  be a symmetric mapping,  $D$  is called symmetric  $(f, g)$ -biderivation on  $L$  if there exist two functions  $f, g: L \rightarrow L$  such that

$$D(x \wedge y, z) = (D(x, z) \wedge f(y)) \vee (g(x) \wedge D(y, z))$$

for all  $x, y, z \in L$ .

**proposition 2.12[ 7]:** let  $(L, \wedge, \vee)$  be a lattice and  $f: L \rightarrow L$  be a mapping. Let  $d$  be the trace of symmetric  $f$ -biderivation  $D$ , then the following hold for all  $x, y \in L$  :

- (i)  $D(x, y) \leq f(x)$  and  $D(x, y) \leq f(y)$
- (ii)  $D(x, y) \leq f(x) \wedge f(y)$
- (iii)  $d(x) \leq f(x)$

**Theorem2.13 [ 8] :** let  $(L, \wedge, \vee)$  be a lattice and  $f: L \rightarrow L$  be a mapping satisfying  $f(x \wedge y) = f(x) \wedge f(y)$  for all  $x, y \in L$ . Let  $\Delta$  be a generalized symmetric  $f$ -biderivation related to a symmetric  $f$ -biderivation  $D$ ,  $\delta$  be the trace of  $D$ . Then

- (i)  $D(x, y) \leq \Delta(x, y)$  for all  $x, y \in L$

- (ii)  $\Delta(x, y) \leq f(x)$  and  $\Delta(x, y) \leq f(y)$
- (iii)  $\Delta(x, y) \leq f(x) \wedge f(y)$
- (iv)  $d(x) \leq \delta(x) \leq f(x)$

### 3. Generalized symmetric $(f, g)$ -biderivations

**Definition 3.1:** let  $(L, \wedge, \vee)$  be a lattice,  $D(\cdot, \cdot): L \times L \rightarrow L$  be symmetric  $(f, g)$ - biderivation and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a symmetric mapping, we call  $\nabla$  a generalized symmetric  $(f, g)$ - biderivation related to  $D$ , if it satisfies the following condition

$$\nabla(x \wedge y, z) = (\nabla(x, z) \wedge f(y)) \vee (g(x) \wedge D(y, z))$$

for all  $x, y, z \in L$ .

**Definition 3.2 :** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ - biderivation on  $L$ . The mapping  $\delta: L \rightarrow L$  defined by  $\delta(x) = \nabla(x, x)$  is called the trace of generalized symmetric  $(f, g)$ - biderivation  $\nabla$ .

It is clear that a generalized symmetric  $(f, g)$ -biderivation  $\nabla$  satisfies the following relations

$$\nabla(x, y \wedge z) = (\nabla(x, y) \wedge f(z)) \vee (g(y) \wedge D(x, z))$$

for all  $x, y, z \in L$ .

**Example 3.3:** let  $(L, \wedge, \vee)$  be a lattice with least element 0 and  $f: L \rightarrow L$  and  $g: L \rightarrow L$  are mappings satisfying  $f(x \wedge y) = f(x) \wedge f(y)$  and  $g(x \wedge y) = g(x) = g(y)$  for all  $x, y \in L$  (respectively)

The mapping  $D(\cdot, \cdot): L \times L \rightarrow L$  defined by  $D(x, y) = 0$  for all  $x, y \in L$  is symmetric  $(f, g)$ - biderivation on  $L$ , then the mapping  $\nabla(x, y): L \times L \rightarrow L$  defined by  $\nabla(x, y) = f(x) \wedge f(y)$  for all  $x, y \in L$  is generalized symmetric  $(f, g)$ - biderivation on  $L$

#### Remarks 3.3:

- 1) If  $f = 1$  and  $g = 1$  the identity on  $L$ , then generalized symmetric  $(1, 1)$ -biderivation is generalized symmetric bi derivation on  $L$ .
- 2) If  $\nabla = D$  then  $\nabla$  is symmetric  $(f, g)$  – biderivation.

**Proposition 3.4 :** Let  $\nabla$  be a generalized symmetric  $(f, g)$ -biderivation on a lattice  $(L, \wedge, \vee)$  related to a symmetric  $(f, g)$ -biderivation  $D$ , then the mappings  $\delta_1: L \rightarrow L$  and  $\delta_2: L \rightarrow L$  defined by  $\delta_1(x) = \nabla(x, z)$  and  $\delta_2(y) = \nabla(x, y)$  are generalized  $(f, g)$ - derivation on  $L$ .

#### Proof :

$$\begin{aligned} \delta_1(x \wedge y) &= \nabla(x \wedge y, z) \\ &= (\nabla(x, z) \wedge f(y)) \vee (g(x) \wedge D_1(y, z)) \\ &= (\delta_1(x) \wedge f(y)) \vee (g(x) \wedge d_1(y)) \end{aligned}$$

Where  $d_1: L \rightarrow L$  defined by  $d_1(y) = D(y, z)$  is  $(f, g)$ - derivation on  $L$  and  $D$  is symmetric  $(f, g)$ - biderivation on  $L$ .

Hence  $\delta_1$  is generalized  $(f, g)$  – derivation.

**Proposition 3.5 :** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ - biderivation on  $L$  related with symmetric  $(f, g)$ - biderivation  $D$ , then

$$\delta(x) \leq f(x) \vee g(x) \text{ for all } x \in L$$

where  $\delta$  is the trace of  $\nabla$ .

**Proof :** since  $\nabla(x, x) \wedge f(x) \leq f(x)$  and  $D(x, x) \wedge g(x) \leq g(x)$

Then since  $(\nabla(x, x) \wedge f(x)) \vee (D(x, x) \wedge g(x)) \leq f(x) \vee g(x)$

Hence  $\nabla(x \wedge x, x) \leq f(x) \vee g(x)$

since  $x \wedge x = x$  then

$$\delta(x) = \nabla(x, x) = \nabla(x \wedge x, x)$$

**Proposition 3.6 :** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ -biderivation on  $L$  related with symmetric  $(f, g)$ -biderivation  $D$ , then

$$\nabla(x, y) \leq f(x) \vee g(x) \text{ and } \nabla(x, y) \leq f(y) \vee g(y) \text{ for all } x, y \in L.$$

**Proof:** since  $x \wedge x = x$  for all  $x \in L$

Then for all  $x \in L$

$$\begin{aligned} \nabla(x, y) &= \nabla(x \wedge x, y) \\ &= (\nabla(x, y) \wedge f(x)) \vee (g(x) \wedge D(x, y)) \end{aligned}$$

And since  $\nabla(x, y) \wedge f(x) \leq f(x)$  and  $D(x, y) \wedge g(x) \leq g(x)$

We can conclude that  $\nabla(x, y) \leq f(x) \vee g(x)$

Similarly  $\nabla(x, y) \leq f(y) \vee g(y)$  for all  $x, y \in L$

**Corollary 3.7 :** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ -biderivation on  $L$  related with symmetric  $(f, g)$ -biderivation  $D$ , then when  $g(x) \leq f(x)$  for all  $x \in L$ , we have .

$$\nabla(x, y) \leq f(x) \text{ and } \nabla(x, y) \leq f(y) \text{ for all } x, y \in L.$$

**Proposition 3.8:** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ -biderivation on  $L$  related with symmetric  $(f, g)$ -biderivation  $D$ , if  $L$  has a least element  $0$  such that  $f(0) = 0$  and  $g(0) = 0$  then  $\nabla(0, y) = 0$ .

**Proof :** by proposition 3.6 we have

$$\nabla(x, y) \leq f(x) \vee g(x)$$

And since  $0$  is the least element of  $L$ , then

$$0 \leq \nabla(0, y) \leq f(0) \vee g(0) = 0$$

Hence  $\nabla(0, y) = 0$ .

**Theorem 3.9:** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ -biderivation on  $L$  related with symmetric  $(f, g)$ -biderivation  $D$ , then when  $g(x) \leq f(x)$  for all  $x \in L$ , then the following identities are holds  $\forall x, y, w \in L$ .

$$\text{i) } \nabla(x, y) \wedge \nabla(w, y) \leq \nabla(x \wedge w, y) \leq \nabla(x, y) \vee \nabla(w, y).$$

$$\text{ii) } \nabla(x \wedge w, y) \leq f(x) \vee f(w).$$

**Proof:**

i) For all  $x, y, w \in L$ , we have

$$\nabla(x \wedge w, y) = (\nabla(x, y) \wedge f(w)) \vee (g(x) \wedge D(w, y))$$

Which implies that

$$\nabla(x, y) \wedge f(w) \leq \nabla(x \wedge w, y)$$

And since  $\nabla(w, y) \leq f(w)$  for all  $w \in L$ , we have

$$\nabla(x, y) \wedge \nabla(w, y) \leq \nabla(x, y) \wedge f(w)$$

So, we get

$$\nabla(x, y) \wedge \nabla(w, y) \leq \nabla(x \wedge w, y) \quad \dots(1)$$

Now

$$\nabla(x, y) \wedge f(w) \leq \nabla(x, y)$$

and since  $g(x) \wedge D(w, y) \leq D(w, y)$ ,  $D(w, y) \leq \nabla(w, y)$

we get  $g(x) \wedge D(w, y) \leq \nabla(w, y)$

hence  $(\nabla(x, y) \wedge f(w)) \vee (g(x) \wedge D(w, y)) \leq \nabla(w, y) \vee \nabla(w, y)$

$$\nabla(x \wedge w, y) \leq \nabla(x, y) \vee \nabla(w, y) \quad \dots(2)$$

From (1) and (2)

$$\nabla(x, y) \wedge \nabla(w, y) \leq \nabla(x \wedge w, y) \leq \nabla(x, y) \vee \nabla(w, y)$$

(ii) since  $\nabla(x, y) \wedge f(w) \leq f(w)$

and since  $g(x) \wedge D(w, y) \leq f(x) \wedge D(w, y) \leq f(x)$

hence  $(\nabla(x, y) \wedge f(w)) \vee (g(x) \wedge D(w, y)) \leq f(x) \vee f(w)$

so that  $(\nabla(x \wedge w, y)) \leq f(x) \vee f(w)$

**Proposition 3.10:** let  $(L, \wedge, \vee)$  be a lattice and  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ -biderivation on  $L$  related with symmetric  $(f, g)$ -biderivation  $D$ , if  $L$  has a greatest element  $1$  such that  $f(1) = 1$  and  $g(x) \leq D(1, y)$  then  $\nabla(x, y) \geq D(1, y)$ .

**Proof :**

For all  $x, y \in L$

$$\begin{aligned} \nabla(x, y) &= \nabla(x \wedge 1, y) \\ &= (\nabla(x, y) \wedge f(1)) \vee (g(x) \wedge D(1, y)) \\ &= \nabla(x, y) \vee D(1, y) \end{aligned}$$

Hence  $\nabla(x, y) \geq D(1, y)$ .

**Theorem 3.11:** let  $(L, \wedge, \vee)$  be a modular lattice and  $f, g: L \rightarrow L$  are mappings. Let  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ -biderivation on  $L$  related with symmetric  $(f, g)$ -biderivation  $D$ ,  $\delta$  be the trace of  $\nabla$  and  $d$  be the trace of  $D$ . Then

$$\delta(x \wedge y) = (\delta(x) \wedge f(y)) \vee (g(x) \wedge D(x, y) \wedge f(y)) \vee (g(x) \wedge d(y))$$

For all  $x, y \in L$ .

**Proof :**

$$\begin{aligned}\delta(x \wedge y) &= \nabla(x \wedge y, x \wedge y) \\ &= (\nabla(x, x \wedge y) \wedge f(y)) \vee (g(x) \wedge D(y, x \wedge y)) \\ &= \{[(\nabla(x, x) \wedge f(y)) \vee (g(x) \wedge D(x, y))] \wedge f(y)\} \\ &\quad \vee \{g(x) \wedge [(D(x, y) \wedge f(y)) \vee (g(x) \wedge D(y, y))]\}\end{aligned}$$

Since  $(L, \wedge, \vee)$  is a modular lattice, then

$$\begin{aligned}\delta(x \wedge y) &= [(\delta(x) \wedge f(y)) \vee (g(x) \wedge D(x, y) \wedge f(y))] \\ &\quad \vee [(g(x) \wedge D(x, y) \wedge f(y)) \vee (g(x) \wedge d(y))]\end{aligned}$$

Hence

$$\delta(x \wedge y) = (\delta(x) \wedge f(y)) \vee (g(x) \wedge D(x, y) \wedge f(y)) \vee (g(x) \wedge d(y))$$

For all  $x, y \in L$

**Corollary 3.12:** let  $(L, \wedge, \vee)$  be a modular lattice and  $f, g: L \rightarrow L$  are mappings. Let  $\nabla(\cdot, \cdot): L \times L \rightarrow L$  be a generalized symmetric  $(f, g)$ - biderivation on  $L$  related with symmetric  $(f, g)$ - biderivation  $D$  with traces  $\delta$  and  $d$  respectively, then for all  $x, y \in L$

- 1)  $g(x) \wedge D(x, y) \wedge f(y) \leq \delta(x \wedge y)$
- 2)  $g(x) \wedge d(y) \leq \delta(x \wedge y)$
- 3)  $\delta(x) \wedge f(y) \leq \delta(x \wedge y)$ .

**Proof :** (1), (2) and (3) are easily proved from theorem 3.11.

**Theorem 3.13:** let  $(L, \wedge, \vee)$  be a distributive lattice,  $\nabla_1$  and  $\nabla_2$  are generalized symmetric  $(f, g)$ - biderivations related to same symmetric  $(f, g)$ - biderivation  $D$ . Then  $\nabla_1 \wedge \nabla_2$  defined by  $(\nabla_1 \wedge \nabla_2)(x, y) = \nabla_1(x, y) \wedge \nabla_2(x, y)$  generalized symmetric  $(f, g)$ - biderivation related to symmetric  $(f, g)$ - biderivation  $D$  on  $L$ .

**Proof :**

$$\begin{aligned}(\nabla_1 \wedge \nabla_2)(x \wedge y, z) &= \nabla_1(x \wedge y, z) \wedge \nabla_2(x \wedge y, z) \\ &= \{(\nabla_1(x, z) \wedge f(y)) \vee (g(x) \wedge D(y, z))\} \\ &\quad \wedge \{(\nabla_2(x, z) \wedge f(y)) \vee (g(x) \wedge D(y, z))\} \\ &= \{(\nabla_1(x, z) \wedge f(y)) \wedge (\nabla_2(x, z) \wedge f(y))\} \vee (g(x) \wedge D(y, z)) \\ &= \{(\nabla_1(x, z) \wedge (\nabla_2(x, z)) \wedge f(y))\} \vee (g(x) \wedge D(y, z)) \\ &= \{(\nabla_1 \wedge \nabla_2)(x, z) \wedge f(y)\} \vee (g(x) \wedge D(y, z))\end{aligned}$$

Hence  $\nabla_1 \wedge \nabla_2$  is a generalized symmetric  $(f, g)$ - biderivation related to symmetric  $(f, g)$ - biderivation  $D$  on a lattice  $L$ .

**Theorem 3.14:** let  $(L, \wedge, \vee)$  be a distributive lattice,  $\nabla_1$  and  $\nabla_2$  are generalized symmetric  $(f, g)$ - biderivations related to same symmetric  $(f, g)$ - biderivation  $D$ . Then  $\nabla_1 \vee \nabla_2$  defined by  $(\nabla_1 \vee \nabla_2)(x, y) = \nabla_1(x, y) \vee \nabla_2(x, y)$  generalized symmetric  $(f, g)$ - biderivation related to symmetric  $(f, g)$ - biderivation  $D$  on  $L$ .

**Proof :**

$$\begin{aligned}
(\nabla_1 \vee \nabla_2)(x \wedge y, z) &= \nabla_1(x \wedge y, z) \vee \nabla_2(x \wedge y, z) \\
&= \{(\nabla_1(x, z) \wedge f(y)) \vee (g(x) \wedge D(y, z))\} \\
&\quad \vee \{(\nabla_2(x, z) \wedge f(y)) \vee (g(x) \wedge D(y, z))\} \\
&= \{(\nabla_1(x, z) \wedge f(y)) \vee (\nabla_2(x, z) \wedge f(y))\} \vee (g(x) \wedge D(y, z)) \\
&= \{(\nabla_1(x, z) \vee (\nabla_2(x, z))) \wedge f(y)\} \vee (g(x) \wedge D(y, z)) \\
&= \{(\nabla_1 \vee \nabla_2)(x, z) \wedge f(y)\} \vee (g(x) \wedge D(y, z))
\end{aligned}$$

Hence  $\nabla_1 \vee \nabla_2$  is a generalized symmetric  $(f, g)$ - biderivation related to symmetric  $(f, g)$ - biderivation  $D$  on a lattice  $L$ .

## References

- 1) A. J. Bell ; "The Co-information Lattice "; In 4th International Symposion On Independent component Analysis and Blind signal Separation (ICA2003) ;(pp. 921 – 926) .
- 2) C. Carpineto and G. Romano; " Information retrieval through hyrid navigation of lattice representations ";INT. J. Hum.-comput. Stud. ;45(5) ;1996 ;553-578 . [doi.org/10.1006/ijhc.1996.0067](https://doi.org/10.1006/ijhc.1996.0067)
- 3) C. Jana and M. Pal ; " Generalized Symmetric Bi-derivations of Lattices"; ANNALS of Communications in Math. ; 1(1)(2018) ; 74 – 84 .
- 4) G. Birkhoof ; " Lattice Theory" ; American Mathematical society ; New York ; 1940 .
- 5) G. Durfee ; " Crypt. Analysis of RSA using Algebraic and Lattice Methods" ; Ph.D. Dissertation ; Department of Computer Science ; Stanford University ; 2002.
- 6) K.H. Kim and Y.H. Lee ; Symmetric Bi- $(f, g)$ -derivations in Lattices" ;J. of The CHUNG CHEONG Math. Soc. ; 29(3)(2016); 491 – 502 . [doi.org /10.14403/jcms.2016.29.3.491](https://doi.org/10.14403/jcms.2016.29.3.491)
- 7) M. A. Chaudhry and A.R.Khan ; "On Symmetric  $f$ -biderivations of Lattices" ; Quaset. Math. ; 35(2)(2012) ; 203 – 207 . [doi.org/10.2989/16073606.2012.697257](https://doi.org/10.2989/16073606.2012.697257)
- 8) M. A. Javed and M.Aslam ; " On Generalized Symmetric  $f$ -biderivations of Lattices" ;Bulletin of the International Mathematical Virtual Institute ; 11(1) (2020); 69 – 77 . [doi.org / 10.7251/BIMVI2101069J](https://doi.org/10.7251/BIMVI2101069J)
- 9) N. O. Alshehri ; " Generalized Derivations of Lattices ";Int. J. Contemp. Math. Sci. ; 5(13) (2010);629-640 .
- 10) R. Balbes and P.Bwingar ; " Distributive Lattices " ;University of Missouri Press ;Columbia ;United States ; 1974 .
- 11) R. S. Sandhu ; "Lattices and Ordered Algebraic Structures;In Proceeding of the 4th European Symposium on Research in computer Security ; Rome ; Italy ; 1996 ; 65-79 .
- 12) T. S. Blyth ; "Lattices and Ordered Algebraic Structures" ; Springer – varlag London Limited ; 2004.
- 13) X. L. Xin , T. Y. Li and J. H. Lu ; " On Derivations of Lattices" ; Inform. Sci. ; 178(2)(2008) ; 307 – 316 . [doi.org/10.1016/j.ins.2007.08.018](https://doi.org/10.1016/j.ins.2007.08.018)
- 14) Y. ceven ; " On Characterization of Lattices Using the Generalized Symmetric Bi-Derivations" ; Bull.Int. Math. Virtual Inst. ; 9(1)(2019) ; 95-102 . [doi.org: 10.7251/BIMVI1901095C](https://doi.org/10.7251/BIMVI1901095C)
- 15) Y. Ceven; "Symmetric Bi-derivations of Lattices" ;Quaset. Math. ; 32(2)(2009);241- 245 . [doi.org/10.2989/QM.2009.32.2.6.799](https://doi.org/10.2989/QM.2009.32.2.6.799)